Name: KQ/U\ Teacher: Hour:

Algebra 2A Final Exam Review

. : Describe the domain and range of each graph using inequality, set notation, and interval
notation. Then describe the end behavior.

1) Domain:

Inequality = < K& &0

%x\-oo4x4+oo

Set Notation

Interval Notation (" OO_, + °°3
- o0 & ta L+ 0

Range:
Inequality

Set Notation a U \ "°°‘“3 & -2l
Interval Notation (' 00, + CD)

End Behavior: AS % — —QDJ'F(x\—7 - o0
As x> +0, F(x) = +

2))

\ Domain:
{ Inequality — 02 4 X4 4+ S0
H Set Notation % X\ — TN & & OOE
Interval Notation (' ol ww
Range: Inequality é 2 = 9\.

Set Notation % :5 \ ﬁ ? - Q‘-S
Interval Notation Y—’ L + ww
End Behavior AS X - — oo ) 'CLK\ = + 0
As x 5 +00, 6O + o0

3.)
Domain:lnequality —PEXL+®
Set Notation EX |'°°< A8 o S
Interval Notation T 003
STV R P X s Inequality a ‘(; 5
I : Set Notation % ﬂl :jﬁ' 3&5
| Interval Notation (_ o, 3 ]
EndBehavior: (S X =7 ~ O, fey= —=0
As x D+ £ - R




\ Teacher: Hour:

Name:

Inequality

Domain:

4.)

S xlasxe S

[-a,a]

3

Set Notation

Interval Notation

Range:
e Inequality "L'{ £ n £0
Set Notation % j\ "Lk -3 3 £ O

T-u,0l

Interval Notation

of Symmetry and Vertex on the graphs below.

T e

e i - ML o

i

5) |dent|fy the Axis
a)
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9.) Using the graph to the nght

Name: Teacher: Hour:

6.) Describe the intervals shown using inequality, set notation and interval notation.

2) Inequality X z 3...

o e 2X| X725
Interval Notation (;\ 3 +°DB
b.)
o ———> IERQEEN =S4k L8
SIS @ i A % E Set Notation %)(\'5<X£‘-;:<3
Interval Notation (—' 3) g‘—s
7.) Find the inverse of each function.
a.) f(x) =10 — 4x X = \<>—Uc~aS —
| i X-10
X-10 = - RO R
4 - -
b. = —
X+10 = (SE \(K\"
15 S

8.) Using the graph to the right.
a.) On which interval(s) is the graph increasing?
(\,3) & (U4, +oo)

b.) On which interval(s) is the graph decreasmg’?

0, (2,4)

a.) On which interval(s) is the graph negative?
( w e 6

b.) On which interval(s) is the graph positive?

(= oo, Q} <Q\ +<>o> -z_’zo;'
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Hour:
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10.) John €arns $30 per w,
€arn at least $175 a week
a.) Write an €quation to re

s. He wants to
eek for his allowance, plus $25 for each lawn he mows. H

O
present the situation. | % = &%K N 5 )

= QOx +3O
b.) How many lawns must he mow to reach his goal? \? 5 &

—
-
-2

\>< = \_Quat\;\ |4 = QDK

11.) Joy earns
wants to earn
a.) Write an e

fills. She
$20 per week for her allowance, plus $15 for each SHIPT order she fi

atleast $320 a week. \3 - D%+ OX

quation to represent the situation.

b.) How many SHipT orders must she fill to reach her goal? 320 = DX + <O
- <L -
\z(= a0 o"de"'\';\ o0 = \BX
o \S
. % = a0
12.) Solve the following absolute value equations
a.) 2lx—~5]—4 =2
+4

x-5=3 x-S =-3

%)f- \ :_\_9‘ +S +S

=
- X = oL
x-3| =3 X=%

B e R M Men o mas o ) < w0, D oy T S
—R -~ W AL S M S A W D PP T L,
¥ .
el 3
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Name: Teacher: Hour:

13.) Determine the number of solutions of each of the following absolute value equations.

a)3l2x+7]+6=15
-fkp =0

% 2%« % 32\3_ X;Q so\uhm\;\

\‘&K+j\:’3)

b.) 9l4x +9] +3 =3
A3

A [4xaq) =_:, |\ so\o*\o‘:\,
O |

|4x 43 =

c.)4l6x —5|+12=8
—\a =\

‘-\\ux—%\=—f\_
0

| ox -2\ = -\

ne Do\ u\\mq

b o JU
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14.) Graph each situation below.

a.) A car travelling at 25 min accelerates to 50 mi/h in 10 seconds. It maintains that speed
for the next 10 seconds, and

X ds.
then slows to a stop during the next 10 secon
31 [ J———
SE ,_l;}_f ; oo "I U e R R e Y ! 5 :
= & webben al 4
% v o
:‘?n;-y P i S
f‘ :) _l A: ] 1 i- 1; I.I{ :. :_
< Lo 5 = =
P S S IR RN
o ](} ] ! i I "» i
RN T e
£l: ) P
0t * I S
0 S B (s B O R R 20 el
Time (se-ond

b.) A car travelling at 5 mi/h accelerates to 15 mi/h in 3 seconds. It maintains that speed for
the next 2 second

s. Then the car accelerates again to 25 mi/h in 5 seconds. It stays this
Speed for 3 Seconds, and then slows to a stop during the next 7 seconds.

T R
o | g vz bk )
p 1 ' 1 1 I 1
50 ¢ 1 fows wolgpusicg]
i ‘ 1 t 1 t ]
— v R B
K l\ ) ) l»l» Ll I
~ 4 i D e R
= [ S I !
- i | ' ] ]
—-: 3 L LR R S S T
< " 3 1 1 t
5 : d
5 I X sl
2 ‘
o X 1
s

1 o el
T 1} [} 1 1 i 4
) =T LS e e S o =5y )
R e e o o DS S L SO S I -+
0 3 16 8 10 12 115 13 0 28 30
Time (s2conds)

15.) Compare each of the following graphs with the graph of f(x) = x2
a)gx)=x%2+5
op <

L ok
b.)g(x) =—x refleck osuer x-axg!

c.) g(x) = (x + 3)? \Q’C"lc ?)
d.) g(x) = 4x? Oert dtredcln of Y
e.)g(x) = (x —5)? rL%‘(\k S "

RID=F22  Aswan

9.) g(x) = 3x?

e L
Neck, Comnp. &F 3

L . S

g

L S R
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Name: Teacher: Hour:

16.) If f(x) = |x| write a function g(x) that is reflected over the x-axis vertically compressed by a

factor of % translated 4 units Ieft and dq\_{s/n 2 unit.
g Yﬁ(x}‘: __\3; \ x+‘-\\_.&

17.) If f(x) = |x| write a function g(x) that is vertically stretched by a factor of 7 translated 8
units right and up 5 units.
\3&\ = 3 \ X—%\-\'S

18.) If f(x) = x? write a function g(x) that is reflected over the x-axis vertically stretched by a

factor of 4 translated 2 units right and up 6 units. 2
b= =4 (x-2) + b

19.) If f(x) = x? write a function g(x) that is vertically compressed by a factor of f translated 5

units left and down 1 unit. \ 2
Lﬂ(@ = T (x +%> - L

20.) Identify the transformations of the graph from the parent function f(x) = |x]|.
g(x) =3|x+7|-2 verk . Stretda & 3B
Left +
dewn oL

21.) Identify the transformations of the graph from the parent function f(x) = |x|.
verk. Conap. oF 3y

gx) =7lx — 6] +4

clahk L
Lp -
22.) |dentify the transformations of the graph from the parent function f(x) = x2.
9G) = ~2(c— 2 47 refleckion over x-AXis

verk. shrekcn of &
Ciam A , VP e
23.) Identify the transformations of the graph from the parent function f(x) = x2.
900 =5 (x+4)? -3 Jerk, Conn D, ot ‘(Z
leFL Y
Adown. S
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24.) What is the ©quation of g(x) in vertex form g(x) = alx — hl + k.

hl + k.

=alx —

25.) What is the equation of g(x) in vertex form g(x)

= |x|.

26.) Graph g(x) = |x — 5|. Compare it with the graph of f(x)

The dashed line is fx) = x|




. Name: Teacher: Hour:

27.) Graph g(x) = |x| — 3. Compare it with the graph of f(x) = |x|.

Th ine i =
e dashed line is f(x) = |x| &OU’N\ ?)_\
o o i L i A

.t\, s 1 ui s ‘, i; ‘ ! /,
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4 e G 4
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Cos TTETN ik
r | RS TTr )

b OB A b !
b I i SRl el o
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1 1 t v t ) 0 I 1 t ' 1
ol U ol Bood @ Qucansl 2 pas B x x '
1 L T B 4 rovo
= o =t s g 1 ’ :
[N O DA 1 Eo et a e
Lo Y, 1RaTg %ol AT
IR VO ) GO Lo 1

28.) Solve the equation (x — 9)? =§i€'
¥y = £
X = c\ s ‘_\

FHE =

29.) Solve the equation (x — 16)? =525

X"lLD: -_\:-5

r x = W £

- (=
l: (= ol x=1\
i: 30.) Solve the equation (2x — 3)2 =113
AxX =3
| ax
- 2
+

" "

(OB
i+ =
'
3

TaTT AT z = F W T s
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: Teacher:
31.) Solve the équation (4x — 5)2 = g7
Hx-9= 237
Yx =9 '—\:ﬁ X
32.) What does the imaginary unit ; represent?
=
33.) Solve the €quation 9x2 _ §5= -1 =
+US S x= T 5

K=

| m—

% 9

34.) Solve the equation 16x2 — ;0/ (,= -5

+36 +

Pox? = QD
o  J I\
35.) Solve the equation 2x2 + 47 = 15
-4F

axzr_ "32

——

a2 &

36.) Solve the equation 2x2 + ,1,4'8/ =20

- 1Hg -4

él(_z': -\

= 3
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Name: Teacher: Hour:

37.) On Venus, the distance d (in feet) that an object falls in time t (in seconds) can be modeled
by the function d(t) = 12t2. How long would it take an object to fall 108 feet on Venus?

108 = 13"
\ S | Q

L9 E{::SS&Q)

N 38.) On Venus, the distance d (in feet) that an object falls in time t (in seconds) can be modeled
by the function d(t) = 5t% How long would it take an object to fall 125 feet on Venus?

|l = B2
B

AL

e e’d ke e e &

|£=5 e |

39.) A soccer player uses her head to hit a ball up in the air from a height of 2 meters with an
initial velocity of 10 meters per second. The height h in meters of the ball is given by

h(t) = —4.9t% + 10t + 2, where t is the time elapsed in seconds. Use the discriminant (D) to see
if the ball will go up, and come back down to height of 1.5 meters. Explain why.

A I B 2 <z
D= —-49% —\r\ott\@js o -"’*('L\-Q(X-Q
10O +.3
109.%

s ble &
% " Shlotieny

i 40.) In the past, professional baseball was played at the Astrodome in Houston, Texas. The

3 Astrodome has a maximum height of 63.4 m. The height in meters of a baseball t seconds after
§ it is hit straight up in the air with a velocity of 45 m/s is given by h = -9.8¢2 + 45¢ + 1. Will a
baseball hit straight up with this velocity hit the roof of the Astrodome?

L3N = . €4%23UDL
-3 M

~9.8% T+ U -L2. 4

P A S A N A
e ~e'e ee g

O = ~HUIALTL0% +D

no, hQOG' .
A0S Critaln AN 2 Q) (L1l
meons o 'U‘an( 3
~on-tea A0S - 2NN L.O%
: NI -42\.08

R
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Name:
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\ Teacher: Hou

#1) Determine if each quadratic €quation has real or non-real solutions
a.)x2_3x+8=0 (~r537._k\(\\(?\

Q-3 b:h—r‘ﬁaq
=k 03
4R

Q-9 \\ rea\-\
\ L
Lo- 4 (YD) .
3L - Do X\ regx\\
O
-1 £ wa@)(e)
3\(’5\
-\ £ J G| J
Lo

b') _2x2+3x—1=0

C) 3x2+6x+3=0

42.) Solve _3_x2

43.) Solve 2x2 +9x +4 = using the quadratic formula
- D2

RN ON
2 (1
__Ci -

I_l
e 7 TR

BNy 4%
\_\.

;IP

=)

T EE L e b - . - .~
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Name: Teacher: Hour:

44.) Complete the square for the following expression then write it as a binomial squared
= J ¥-3 )2

x%* — 6x +

45.) Complete the square for the following expression then write it as a binomial squared
x% +8x +

)2

aﬁ.)t\)Nrite the equation that shows x? + 16x + 7 = 0 after the method of completing the square
as been applied? (DON'T SOLVE) R
KE ey £ % =T

(x +%\L = 9%

47.) Write the equation that shows x? — 6x + 10 = 0 after the method of completing the square
has been applied? (DON'T SOLVE)

ks 3 = -l 1

e

48.) Solve x? — 4x = —1 by completing the square.

Xa"usx -&-_i_ = =\ ¢ 9
(x- =213
X-o = t\r_b_ e
‘;:rl. 3

+




Name:

Teacher:
49.) Solve x2

Hour:
_zx_

4 by completlng the square.

e N E N e

(X_N‘:g‘g‘
Xx—\ = £J&
X= \ =35 |
50.) Wri i

Write the following function In vertex form and identify the vertex. g(x) =sz + 8)— 10

Ql ¥+ .&’;1”\?‘_—\—@’

(x -\—‘-\\1—- Lo
Cu, -am

51.) Write the following function in vertex form and identify the vertex. g(x) =<x - 6 +15
(3w

Rx»'b\) P

N
2
L:-‘ )
52.) What value should be added in the blanks to wmplete the !
[x2 + 6x + n +[2 +4y + &L\ ]——20+tq\ +__L'\ )
53.) What value should

be added in the bl omplete thesq
[x2—2x+®]+[y2+6y+o\ 15:-

54.) Write the equation of a circle with center C (4, —3) and radius r =

-\-\\ + (5-\-33 \o

55.) Write the equation of a circle with

(x-\— 33 *—(\6-—%3 5\4

|
t
{
'
2
i

e g G
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Name:

56.) What is the center and radius of the circle? (x — 4)2 + (y + 3)? = 4
(L\ ) '—'53 c=

57.) What is the center and radius of the circle? (x + 6)% + (y — 2)? = 16.
fu,) o)

58.) Find the radius of a circle with center €(2,2) and passes through the point P(—1,6)
% rA La
(-1-3) + (L-2)%= ¢
'3 rR & |
S EICKs C=D k
A oy
aSe %

59.) Find the radius of a circle with center €(2, —1) and passes through the point P(4,4)
(u-3)* + (4etY = F

A O Y(\ == }

Hrad= ~

%= c*

60.) Write the equation in the standard form of a circle. x* + y* + 4x —4y —1 = 0.

= *i*i

Xt Ux *—_i*“az—k-\t
(% + Sljl-'r (ta'ghz—’- 9
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Name:

_— Teacher: i

9 - 2B

Q_ A
X ~\0x %2_3"*“(\) +loy

4
&Cx_%jl*_ C&E’E’:)Z; L\]

62.) What is the solution to the system graphed?

P
1)
4
a

-

pim B o aned

(\3&\\

T e T

T AT R SIS W RTR L wT R TR

I

L



Name: Teacher:

Hour:

64.) What is the solution to the system of equations?

{y=—2x+8 __ax+g - )(_:\-
y=x-7 4+ 3 +ax
\J = 3%

X =

(S;Aﬂ

&-6.:5-_4
g%z-&.

65.) What is the solution to the system of equations?

{y=x-2 X-& = Hxa\
y=4x+1 -\ —X
e

- = A

<“)'®\ - 2
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Name:
Teacher: Hour___—

66.) Dete
rm'he the number of solutions for each of the systems of equations
[ x+y=4

\\

_x—y\=6

a.)

e

=10

Yr\m 50\&:“&10\\\

- x-3y=6 “\‘\X -\.\ = -»Ld‘
4x—12y =24 'X -\ }-

L\'\'K:\hdqg\%

B B

wﬁ o e W W e ) T D D AP P DA PP

.

,,,,,,

o W P . W & ™



Hour:

Name: Teacher:
67.) Solve the system of equations by substitution
>z
[ x2-y=7 \,a: XZ—-:(- [ =X-#
oy T s&:X'q’ )(2_.)( =
a.=\  lo=-\
%=\
R Y T O R T S N e
f a2 - oa = x> x=0
C 03-7'3(.\ J—bj)

- 68.) Solve the system of equations by substitution

{ Py 7 té: x?._q_ S50z
6x+y=-16 '6-‘—‘ —Lx -\ Xz-\—\px +q =0

NPERAEETHE _ -_9%9___ « ==

20D
(-3,3)]

69.) A jar containing only nickels and dimes contains a total of 30 coins. The value of the coins
in the jar is $2.00. Solve by elimination to find the number of nickels and dimes that are in

L the jar.
—.o%? n+a= 30

|
\r
'3

QS *,\ck’= Q.OQ
L= d = —1.50

02 = .0
d =10

\O C)\\M€3
QA0 nicke\s)\

®

e

—

T —— e -
i v ——
v o ™

k»ﬂ-_._



Name:

- Teacher: Hour_

70)Aj ini : i
) A Jar containing only nickels and dimes contains a total of 80 coins. The value of the coins

m;r}:,—j_ar is $6.75. Solve by elimination to find the number of nickels and dimes that are in
e !
= R \ﬂ__-\—OL: QO ¥

ZQQT’) v A= LAD 5‘—3 oKe\S : i
N ‘ 1
—.GBn —.03 = L |
054 = 235 - |
71.) Graph the circle. (x=2)2+ (y+4)2 =16 %
_u = ISt IR I ;

<a;\\3 |

! ) ¢ oE 8w
s N R NN TR ST
‘ H ; C
R . F VR ped
- & 2 . | L i
N ”~
) i : | A ;
’ h i % - {r 9 .-l 1.

- Ry L 1o «

' X

. I
72.) Graph the circle. (x + 1)? + (y — 3)2 = 25
. -1
' -‘} o
b ¥
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2|lx+2|+3

73.) Graph the absolute value function g(x)

4D LBAD T N 0D WS D
ks C i e

D e L £ A R

|x=5]—2

3
4

74.) Graph the absolute value function g(x)
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Name:

75.) Graph the Quadratic function g(x) = —2(x + 2)2+8

\

- ——— _____ Teacher:

-\—7_

O-1| O + ¢ LR R A D
Y ’ s
’(‘2}‘*'8 ARt I P T

[ -1

G (-2,80)(-1,Q)

043

V43

| (D) + 3 -

Hour:
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